
 Rayleigh – Ritz:
 
 ũ  = Q y    approximate eigenvector

  (A - μ I) ũ    X →  Q  (A - μ I) ũ  = 0 →   Q  (A - μ I) Q y = 0⊥ ᴴ ᴴ

 → Q  A Q y = μ y  ᴴ

  mxm eigenvalue problem
  
---------------------------------------------------
Projection method: case of invariant subspaces:
-------------------------------------------------

By definition:

X invariant if    A X   X⊆

Assume  X invariant and let Q = orthonormal basis of X

μ,  ũ approximate eigenpair obtained from proj. method.

 ⁿ = X  X       ℝ ⊕ ⊥

Then: 
====

(A - μ I) ũ = A ũ - μ ũ    X →  (A - μ I) ũ = Q z ∈
               X    X ∈ ∈

But recall that Q  (A - μ I) ũ = 0 →  Q  Q z = z = 0 → ᴴ ᴴ

(A - μ I) ũ = 0   →  μ, ũ  exact eigenpair  □ 

===================================================

 w := Avⱼ
            j                  j+1                   
 w := Av  - ∑ h  v    → A v  = ∑ h  vⱼ ᵢⱼ ᵢ ⱼ ᵢⱼ ⱼ
            i=1                i=1

 h ,  = ||w||ⱼ₊₁ ⱼ

 v  = w/ h ,ⱼ₊₁ ⱼ₊₁ ⱼ

 A V  = V    ₘ ₘ₊₁ HH ₘ

===================================================


